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1.Solve the following equations:

(a)y" + 4y’ =sec2x (10%)

O Py +x2y" - 2xy’ +2y = x° Inx (10%)

(©)xy' —-ylny=x"y (10%)

(d) y"cosx — 2y'sinx + 3y cosx =¢”* (10%)

(e) cosyéz‘---v }—siny =¢e*sin’y (10%)
dx x )

2.Solve the following initial value problems:

] 1
\4.3 - 4_1’ 0= 2, ’Gz __ 100/
@4y’y" =y y(©0)=~2, y(0) G (10%)
(b)(xzDz—3xD+-3}y=3§nx-—-4, y)=0, y({)=1 (10%)

3.Use the Laplace transform to solve the following problems:
()y"+9y =8sint if O<t<m and 0 if t>=, y(0)=0, y(0)=4 (10%)
(b)y"+6y'+5y:t--—tu(t—-Z), y(()):l , y’({)):{} (10%)

4.Use the Laplace transform to solve the following system:
y, =2y, +4y, +64tu (‘{ 1)

y,z =y, +2¥,
y,(0)=-4, y,(0)=—4 (10%)




